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With one of the following law, the 3. Generalisation is a reaction to

more times a stimulus induced (1) . Differences
response is repeated the longer it Boo klet C ode @
will be retained
(1) Law org{(%r}cisé
(2) Law of repetition

Child Devel,pment and Pedagogy

(3) Law of effect  (4) Similarities

(4) Law of readiness ) Association
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(4) oGS ;:)o:Slo 4, In PavlqVv's classical conditioning

A procedure that establishes a seqthence of responses which lead to
experiment, the coil di tioned

a reward following the final stimulus was
response and then working
backwards is called (1) Saliva (1) Chaining (2)

Footsteps

(2) Stimulus generalisation
(3) Shaping (3)Bell

(4)' Stimulus control (4) Food
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b.

Psychologist Albert Bandura has

developed the theory of

(1) Observation learning

(2) Insightful learning

(3) Operant conditioning

(4) Classical conditioning
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Vygotsky proposed that child

development is :

(1) A product of formal education

(2) A product of assimilation and
accommodation

(3) Due to genetic components of a
culture

(4) A product of social interaction
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he influence of having previously

practiced Jkill on the learning of

new wkill in called :

(1) Zero transfer

(9) Transfer of learning

(3) Bilateral transfer

(4) Negative transfer
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“Using existing knowledge or skills
to address unanswered questions” 18
called :

(1) Problem solving

(2) Critical thinking

(3) Metacognition

(4) Self-regulation
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10.

Deductive thinking refers to

thinking in which :

(1) Judges the suitability or
appropriateness of an idea

(2) Generalises the information

(3) The individual goes beyond the
present information

(4) An inference or conclusion is
derived logically from
information on hand

NIs8 Irdrardo ©IE &

GBS SI D08,

(1) 28 6&%5S &»g& whdrod Oo
.ow{)és'sz)l JOPO000

(2) JHSrTo) 3‘5"656@0&

3) 2.8 358 (PR BSOS oD
9@5‘{)3‘&

4y FBSHD) BErTTo BES
&°9) Sorr &8)%) B eHdd
o Sohod)

Identify the type of memory that

deals with the general world

knowledge that are accumulated by

the individuals throughout their

lives, like facts, ideas, meaning and

concepts :

(1) Short-term memory

(2) Long-term memory

(3) Sensory memory

(4) Semantic memory
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o Bruner, young

i t
Ascarcing inly in the :

children learn ma

(1) Enactive mode

(2) Proactive mode

(3) Symbolic mode

(4) Iconic mode
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Learner-centred teaching means

that :

(1) Learners are given an

opportunity to construct

knowledge and teacher is a

guide in the learning process

Learners know little and

teaching involves transmission

of facts to them

Learners are considered

passive recipients and teacher

has the right knowledge

Learners are slow in learning

and teacher stresses completion

of syllabus
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13.

14.

Cooperative learning lessons can be

characterised b :
features except : y the following

(1) Students work in teams to
master learning goals

(2) Competition among teacher
and students

(3) Teams are made up of high-

average and low-achieving
students

(4) Whenever possible, teams
include a racial, cultural and
gender mix
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Education for ‘children with special

needs’, should be provided :

(1) In special schools only

(2) By special teachers in special
schools

(3) Along with other normal children

(4) By methods developed for
special children in special
schools
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Inclusive Education :

(1) Includes indoctrination of facts

(@ Includes teachers from
marginalised groups

(3) Celebrates diversity in the
classroom

(4) Encourages strict admission
procedure
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A few students in your class are

exceptionally bright, you will teach

them :

(1) By using enriched programmes

(2) only when they want

(3) Along with the others in the
class

(4) Along with higher classes
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17. Dyslexia is associated with - 19. According to Bloom’s tﬂxonomy_ .
(1) Reading disorder we have to .assess a chilg,
knowledge, which of the f°"0wing

2 iti i
(2) Writing disorder domains we are looking into 7

(3) Mental disorder (1) Cognitive domain

(4) Mathematical disorder (2) Cognitive and affective domajy,
828008 Bowodo xon 8338, (3) Psychomotor domain

(1) 383 Sy 8 (4) Affective domain
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20. The National Curriculum
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assessment weightage in Telangana
is :

(1) 60% and 40% respectively Framework, 2005 expects a teacher
(2) 50% and 50% respectively %o, be childy :
(1) Facilitato
(3) 20% and 80% respectively e
(2) Guide
(4) 30% and 70% respectively (3) Monitor
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21.

22.

Among the following identify the

statement which does not match

here :

(1) Development proceeds from
general to specific

(2) Development is an integrated
process

(3) Development is a continuous
and life-long process

(4) Development is a result of
maturation
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This is an unlearned or innate
response in the reaction to a
specific class of stimuli :
(1) Reflex
(2) Insight
(3) Species specific behaviour
(4) Instinct
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23. Accor

4 Determinants

Booklet Code

ding to Piaget, children

develop abstract logic and

| reasoning gkill during -

(1) Concrete operational stage

(2) Formal operational stage

(3) Sensory motor Stage

(4) Pre-operational stage
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of individual

differences in human beings relate

to :

(1) Interaction between heredity
and environment

(2) No influence of both heredity
and environment

(3) Differences in environment

(4) Differences in heredity
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95. The correct sequence of the five

stages of the Freud theory :

(1) Oral, anal, latency, genital,
phallic

(2) Oral, phallic, anal, latency,
genital

(3) Oral, anal, phallic, latency,
genital

(4) Oral, anal, genital, latency,
phallic
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. According to Erikson, in which
stage children do not want help
from others ?

(1) Initiative Vs. Guilt

(2) Industry Vs. Inferiority

(3) Trust Vs. Mistrust

(4) Autonomy Vs. Shame
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97. The thinking

Booklet Code E
process involved in
roducmg an idea or concept that

is new, original and useful is

termed as :

(1) Unique

(2) Flexible

(3) Creativity

(4) Innovation
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.Languageeanbesummarisedin

terms of :

(1) Sentence structure and
memory

(2) Only sentence

(3) Prepositions and sentence
structure

(4) Prepositions and memory
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29. According to Kohlberg in which

stage a child thinks that ‘T won't
cheat on the test because my
parents will be ashamed of me ?

(1) Interpersonal relationships

(2) Social contract and individual
rights

(3) Obedience and punishment

(4) Individualism and exchange
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30. ‘Introspection method’ was used

mainly by :

(1) Behaviourism
(2) Pragmatism

(3) Functionalism
(4) Structuralism
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Part-Il : Telugu (Language-D)
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61,

62.

63.

Part III : English (Language-1D
64. There’s

Who painted this ? - this can be
understood as :

(1) Who was it painted ?

(2) Who was it painted by ?

(3) Whom was it painted ?

(4) By whom it was painted ?
‘Shall I ever see her again 7 he

wondered. This sentence can be

reported as :

(1) He wondered if he would see
her again ever.

(2) He wondered if he would ever

- see her again

(3) He wondered if he will ever
see her again

(4) He wondered if he would ever
seen her again

Very few Indian kings were as

great as Ashoka. This sentence can

be understood as :

(1) Ashoka was greater than most
other Indian kings

(2) No other Indian king was as
great as Ashoka

(3) Ashoka was the greatest
Indian king

(4) Ashoka was greater than any
other Indian king

66.

Booklet Code C

use 1in

------
-----
-----

: %, i3
complaining. They wont do

anything about it.
Choose the correct answer :
(1) a little

(2) little

(3) a few

(4) few

Ramesh has two brothers, but he
doesn’t speak to ...
Choose the correct answer :
(1) either

(2) neitheri

(3) both

(4) any
WHat ..ieive was in the box 7

Choose the correct answer to

complete the sentence :
(1) you did think

(2) you had thought
(3)" did you think that
(4) did you think



67.

69.

We haven't got ............. left.
Choose the correct answer :
(1) any butter

(2) the butter

(3) a butter

(4) some butter

Choose the correct answer to

complete the sentence :

(1) surprising, frightened

(2) surprised, frightening

(3) surprised, frightened

(4) surprising, frightening

No one believed him at first, but

Choose the correct answer :
(1) found out
(2) turned out
(3) worked out

(4) came out

Booklet Code

70. Choose the correct sentence :

(1) Had I not seen this with my eyeg
I would have not believed it,

(2) Had I seen with my eyes, |
would have not believed it

(3) Had I not seen this with my
eyes, | would have believe it

(4) Had I not seen this with my
eyes, I would not have
believed it.

71. Find out the part of the sentence
that has an error :

In summer / days are / warm than/
(A) (B) (C)

nights.

(D)

(1) (C)

(2) (D)

3) (A)

(4) (B)

72. He insisted on he was innocent.
To improve‘the sentence, the
underlined part has to be replaced
by :

(1) insisted upon that
(2) insisted what
(3) insisted on that

(4) insisted that



73.

74.

75.

I am annoyed

.
-------------

he has done to us.

Choose the correct answer to
complete the sentence :

(1) with, for

(2) for, with

(3) with, from

(4) for, from

The expression ‘to turn over a new

leaf means :

(1) To change one's behaviour for

the better
(2) To take a decision
(3) To read something carefully

(4) To be cautious

Identify the word that has correct
stress :

(1)
(2)
(3)
(4)

p ivotal
volatile
éiplomacy

oppor tunity

76.

7.

78.

Booklet Code | C
With the word ‘the, ‘earth’, is and

‘round, we can make a statement —

The earth is round’ and a question
_ Is the earth round’ ?

of language

The property
mentioned here is :
(1) culture transmission

(2) duality of structure

(3) arbitrariness

(4) creativity

9 like apples, but they don’t like
me.’ The figure of speech used in
the expression is :

(1)
(2)
(3)

(4)

euphemism

personification

metaphor

oxXymoron

We eat so that we may live.

The syntactic device used here is :
(1) Complementation

(2) Relativisation

(3) Coordination

(4) Subordination



80.

The General Service List of English
words (GSL) is associated with :
(1) Bilingual method

(2) Grammar translation method
(3) Dr. West’s new method

(4) Direct method

The process of determining the
changes in behaviour through
instruction is :

(1) Test

(2) Evaluation

(3) Measurement

(4) Assessment

81-85. Read the following passage :

An optical fiber system consists of
three basic parts : transmitting
equipment that transforms electric
signals into light pulses, the optical
fiber itself, and receiving gear that
acts as a light detector. The fiber is
a very thin strand of pure glass
usually made of silicon or other
materials such as germanium. The
glass strand has two parts : a light
transmitting core and a special

TEIVICY'EY 9 9 9 WIS & sreews o

81.
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glass conting that keeps the “l.fh'-
from straying. The fiber, or which
there are several types suited for
different kinds of tasks, i8 meroly
the medium through which the
light flows. An average cable
consists of about 75 fibres.
The light impulses are generateq
either by laser or light emitting
diodes, LEDs. If the signals have t,
travel far, they may be boosted at
certain points. Lasers are better for
long distances as their signals
travel long without the need for
boosting, but LEDs are lesg
expensive and more reliable.
Research is focused on creating
better and less expensive light
sources. In that case, the prices of
lasers and LEDs will decline. It is
believed that in no time the copper
cables will be replaced by fiber
optics as they transmit a great dea]
of information very quickly.
Now, answer the following questions
choosing the right option :
The advantage of the optical fiber,
according to the passage, is :
(1) Signals which travel through it
do not need boosting
(2) It is less expensive than
traditional cables
(3) It is durable than copper
cables
(4) It transmits
quickly

information



82. The glass coating on the strand :
(1) Holds the bundles firmly
(2) Keeps the impulses from
escaping
(3) Detects signals
(4) Transmits signals
83. LEDsambctterthanlaseminwﬂei
(1) Copper cable is not available
(2) Reliability is more important
than expenditure
(3) Expenditure matters
(4) Signals need to travel a long
way
84. From the text, it can be understood
that :
(1) The use of lasers and LEDs
will decline
(2) Fiber optics will become
affordable and widely used
(3) Copper cable will replace fiber
optics
(4) Both copper cable and fiber
optics will be used
85. The function of the core is to :
(1) Transform signals
(2) Transmit signals
(3) Detect signals
(4) Create signals
TET-111-EM/TM
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(86-90) :

87.

89.

five
i passage has
:‘:;b?::g“glggks. For each blank,

i jven. Identify
tives are given .
f},:;r;"rf;lta option for each blank :

ou plant a tree, you are
l‘zz}l’:i:gyyouf emrix'onmercn,l (8?;:"(12
many ways. Your tree wil Sp;'
a home and food for ( ,goll
creatures. It will hold (88).......

i .1t will provide (89).......
t.ul;ep:xc;mer. You can watch it grow

fter some years,
:ggwsom;oﬁ:y, achildren, even
grandchildren, the tree you (90)....
(1) i
(2)
(3)
(4)
(1)
(2)
(3)
4)
(1)
(2) all
(3) the
(4) a
(1) glimmer
(2) shade
(3) shadow
(4) twilight
(1) plant
(2) will be planted
(3) will p]ant
(4) planted

in
on

for

before

any other
some another
another

other

some
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Part IV(a) : Mathematics - Content

94. Mean of ten observations i8 38, If

91. When measurements of two !
rvation 56 is excluded,

diagonals are given, then the one obse
quadrila;?r.al. that can be then the new mean is
ff)"sffr":;ezi&fn' 58 ovho Hie 38, TS 2k
(2) Rhombus o8 56 D Fohoddgwd £¥
(3) Rectangle 4 Ko

(4) Parallelogram ) A 36

Tok $gro Sodw gu)dRYE @ 35

00380 S )yzo o

() (Bozako (3)

2) TrowR 4) 37

3) &8 S&d[Ro
@) 31088 S0

95.

Choose the incorrect statement :
(1) Median is affected by extreme

92. The adjacent angles of a
parallelogram are x° and (2¢ + 30)’, values
then the greatest angle of the (2) There may be more than one
parallelogram is : | . mode for the given data
Hdrodd Wb )zo aj’gl- (25 (3) Mode is the most frequent
(25} 653. e ﬁ $agdiad observation of the given data
ey ; 80) a_::;”‘s b; 5; OJ?’ (4) Median represents the middle
e 1%80 & 5 v 3 value of the distribution
g; ;go arranged in either ascending or
3) 50° descending order
4) 130° eddg TS, thdowod.

93. Choose a shape having unlimited (1) e8goy 8308 JNI0R

number of lines of symmetry :

Bgghido [(TalefoTe SRV

& s D o€ deofSnSE e
ircie A
(3) Square riogine §oddE )

(4) Isosceles triangle

©H0 W ‘boxpgé‘ Fad Bpen |

0ns wusdo

B3) Secodod® €S Fdo
QYo ygo wond 0°FI

TouEEo wQdro

g; g?éiféwo @) 8o U8 ed8ire ($508°
(3) Sddo Serofind® g ovad) Hoggido
©®our0

@) Dby wram (Bzhzo



96.

97.

98.

Thg volume of a cuboid is 1296 m®.
If its length is 24 m and its
breadth and height are in the ratio
3 : 2, then the breadth and height
of the cuboid are (in meters) :
Bgonin o) Sosd0srmo 1296
.. PEY) 24 . HHo0kn I
DO & 3 : 2 AH)BS® &) bow
oS Tang), Sdeny 2040 I&
(530(206‘)

(1) 27, 18

(2) 18, 27

3) 9,6

4) 6,9

The area of a circular path is 1570
em? and the radius of the outer circle
is 30 cm, then the width of the
circular path is (n = 3.14) (in cm) :
Sysr sy T BTogdn 1570
3.20.00  $2808n wrdrg )
Tgrgo 30 Do.sd wawd SErsd
26 by (n=3.14) (0.0
(1) 0.1

(2 0.2

(3) 20

(4) 10

If length of one diagonal of a
rhombus whose area is 2025 ecm? is
27 cm, then the length of the
second diagonal is (in cm) :

2025 $.0.> Iwogo Ko orond
3::‘% agaggo PN 27 o.d
(’go.:);_:g;‘) Bodd E8o FEH
(1) 100

(2) 25

(3) 75

(4) 150

TET-111.FM/TT™M

99.

100.

101.

‘then its area is (in cm

Booklet Code | C

The base of an isosceles triangle is

d its perimeter is 32 cm,
2) .

12 cm an

(Bghzo [l

o¥ 6% TPTN
fovov) d)%»g'oé

gro 12 250.40 B
32 0. ©ONI
(5.390..06%

(1) 40

(2) 80

(3) 48

(4) 96

The heights of two vertical poles
are 34 m and 10 m respectively. If
the distance between their feet is
32 m, then the distance between
their tops is (in meters) :

Bodh dwF) Jore JHw SEJBm
34 & 00w 10 . @ Hogre vbide
SEg Sr8o 32 & wond 8 D
o 8¢ Srdo (.08%)

(1) 10

(2) 24
(3) 32

(4) 40

817 x 35 x 3% x (64) x (yg)“ 2
(1) 2% x 32

2 25 x 32

(3) 3718 x 95 x 32

(4) 318 x 25 x 32



102. 1If x*! =3, then the value of
-

1
x‘*—‘ 18
X

1
= PO

;-+i=3 wond ¥'+=g devd :
(1 81

@) 47

3 9

4) 49

103. 25¢2 + 9y% — 30xy =
1) (Gx + 3y)?
@) (5x — 3y)?

(3) (5x + 3y) (5x — 3y)
(4) (3x + 5y) (3x — 5y)

104. If T 5,600 amounts to ¥ 7,560 in

4 years, then the rate of interest
per annum is :

8. 5,600 oden 4 Jodyoros®
gr. 7,560 InSom Ir68

2058y008 5§ B
1
1) 8%

(2) 8%

3
(3) 82%

1
(4) 81%

105.

106.

Booklet Code

questions. (+4) marks
every correct answer

arks are given for
incorrect answer. Laxmi attempts
all questions and gets a score of 76,
then the number of correct answers
attempted by her i8 :

¥ HOESt 25 (PH)™ adgadsd),
(8 $3S zTwd (+4) Srdo) e,
Soy 2w (-2) S;Eo e
deronoddo =0n98. ©8) ©d)
Bhod azww oD 76 e
00D, O 05.& oS DTN
FTWO  VoVS.

(1) 23
(2) 21
(3) 20

(4) 22

The difference between the L.C.M.
and H.C.F. of two numbers is 133.
If the L.C.M. is 20 times the HCF
and one of the number is 35, then
the other number is :

TBodk ‘éoxpgo ... Sodaddw
s g P80 133, ...
frse.8 20 T Hdcky s
¥ Dopg 35 soand Todd ‘éoq:g.
(1) 40

(2) 25

(3) 42

(4) 28

ln n wst 0[25
are given for



107. The number of prime numbers 1 Lo

108.

100 in -

' W08 100 b8% ighio (B
NOoRgO ;’au,ps ;

(1) 20

(2) 23

3) 25

(4) 24

1
10
1 A
2 30 i
coloured red and the rest is
coloured blue, If the length of the
blue portion is 14 m 70 e¢m, then
the length of the tower is (in

meters) :

of a tower is coloured green,

is coloured white,

1
656 Tk, 10 & rifo wHdSYorh,

1 1
203 ¥iio Bewdotd, 258 g

QY Both bk e Ko Yoo
Soth B, dvo o 14 D 70
0. PEL wond, 055 &P
(woJoS®)

(1) 1.8
(2) 1800
(3) 180
(4) 18

109,

110.

Booklet Code I C l

4.7 =

(1)
(2) 9

(3) 9

43

——

90
Raju and Ramu won a lottery and

(4)

agreed to share in the ratio of
3 . 4, If Ramu received ¥ 780 as his
share, then the total amount they
won I8 :

over H0Gi ordw orebd) ADTH
2008 3 : 4 dayds
5B a8 wohEboard). ovdw
averm Er. 780 o088 o8
Aododd obbd SIwdo :

(1) ¥ 585

(2) T 600

(3) T 1300

(4) T 1365



111, If the cost price of 10 articles i8

equal to the gelling price of 8

articles, then the gain or loss

percent is
(1) 25% gain
(2) 20% loss
(3) 256% loss
(4) 20% gain
10 ShHo »bd I0 8 SPHo
sinsY Do HErSED wowd
gy Sor SR S5
() 25% oo
@) 20% SQo
3) 25% Sa0
@) 20% oo

112. The ratio of the perimeters of two
squares is 1 : 2, then the ratio of
the areas of that two squares is :
Both $HRre W Sodo DAy
1:2 wod @ Dok S&HIFo
3rorgo Ray8

(1) 1:4
2) 4:1
3 1:2
4 1:1

113, The angles of at

114.

C
riangle are (2x)’,

Booklet Code

(3x + B and (4x — 14)°, then the

gmallest angle of the triangle is :

L8 Pihao % Poren (2,

(3x + 5V %0050 (4x - 14’ ®ous

o (b0 Twsy W) §20 :

(1) 68

2 T70°

(3) 21°

(4) 42°
The angle which is 36° more than
its cbmplement is :

¢ Serds Grs¥ Swo ¥od 36°

wdfor fo §'wo :
(1 72°
(2) 63°
(3) 36°

4) 27°



115.

116.

117.

Part IV(D) : MethodoloBY

‘Modgl problem solving” lies in which

step in writing a period plan ?

(1) Presentation and discussion

(2) Recapitulation

(3) Academic standards that
students should achieve

(4) Teaching learning material

gasma S8o%e >EST wRIb

S000E BPE JuseS® » F>TOS

Sod3872

(1) (BEEIS-38

2) Zp)ﬁ:{)dc; .

3) Dc*sgom FBoIHONd AT
ST TN

4) SE>LeHS FErh

Which aid is used in teaching

geometrical concepts ?

(1) Pegboard

(2) Geoboard

(3) Fractions disc

(4) Abacus

8‘53330‘5; ridde PSS

G3WrAoT 20580 28?

(1) 2h 5%

) 2@ 6

3) dmo if@o

(4) Jroo Sbo

Which of the following is an

example for summative evaluation ?

(1) Assignment

(2) Project work

(3) Quarterly examination

(4) Quiz

806 &8 Do rE 8

JrereodTRd aTddn 282

(1) o=z d0

2) @2H

(3) 89308 568

4) §3§

C

Booklet Code

of the following qis not the

of mathematics -
and deductive

118, Which
pature

(4{) s')f ’)'%%: rely on mathematics
y an.s real life situations to €0 ect

119.
gemdetails of population census,

Aesthetic value

(2) :
(3) Informagloon vah‘xlz
Pre ry v
gé@d: 83 :)gﬁéaé ;Soéo'god"
sy O8O0 b :);’Lo'w.é %v
058 3.‘.:«%0& H3oren EdODE
&soboos

r3d0D WGERESOR .
godaé‘éé, K380 & Qe0d ¥Oh
c‘za'l& -
(1) "oy,
2) ¥ord)§ Jeod

3) SIS Qe

4 :63')_:3‘5 DD

Which teaching method is useful
for verification of principles ?

(1) Activity based method

(2) Inductive method

(3) Synthetic method

(4) Deductive method

AP 8 Esmresy H6Srdads
SHTIrELE S'8T HE8 872
() &eecs 588

(2) 88N DY

(3) boFam 543

@) % 553

3% Jend

120.



Part V(a) :

121. Identify the sequence of the three

main layers present in the eye
from outer to inner :

(1) Choroid, Sclera, Retina

(2) Sclera, Retina, Choroid

(3) Sclera, Choroid, Retina

(4) Sclera, Cornea, Retina

088" 20h8 Hod &*HD BB
S&dm Ao Swrdy Sopg Do
oo HBoSos.

(1) 8gdboo, E)ERso, JSdboo
) é')d.odo, 3@%’3&00. 8¥dbo0
3) &yFa80, ¥§dLLO, 38s6e0
4) &ydd80, s'bldﬁ:‘ 315’506)00

122. thch among the following is NOT

a non-renewable resource ?
(1) Fossil Fuels

(2) Air

(3) Water

(4) Sunlight

(Bod 8 a@:ﬁ&dboaéﬂé S
500

(1) orz aodarew

2) m™d

3) &

4 ‘érdsd%;

123. According to ancient Indian

cartographers, India is located in
this :

(1) Jambu Dwipa

(2) Krauncha Dwipa

(3) Salmai Dwipa

(4) Saka Dwipa

(@ P68 do Erd¥do 5o,
g888%0 & BgHos” ok
(1) =oz*Bedo

2) (570

3) é*o O g

4) 4¥ 63oo

Environmental Science -

124.

125.

Booklet Code

C]
Content

med Shoka travelled from
IA)wg;)Jrna Shillong. She travelled in

this direction :
(1) East
(2) West
(3) North

ga’u‘ o &3r\6 Hod

R o‘SJ‘wo BDod, esoaoé
:g oé; ag&é‘ [Boirmo THod

(1) &r&)
Q2) S8
(3) &sdo
4) &m0
Consider the following :
Place District
() Amrabad  (A) Jayashankar
Bhupalapally
(i) Eleshwaram (B) Nagar
Kurnool
(iii) Pandavula- (C) Adilabad
gutta
(iv) Ghanpur (D) Nalgonda
Choose the correct match :
(1) ()-B), @)-D), (@Er)-(A), (iv)-(C)
(2) (i)<(B), ()-(C), (@r)-(A), (iw)-(D)
(8) (i)-(A), @)-(B), (i£i)-(C), (w)-(D)
4) @)4D), @)C), (iHi)-(B), (iv)-(A)
& (8ob O $6590508
|@roddn 2o°

() e@Erzd (A) 200%0¥5

drrond
(if) o204 83 (B) 6 563'16'
(ti) 5)"0 (C) wborard
(iv) ma‘aj'S (D) $&°0d

2T zdodo Jéolg‘o%

(1) (©)-(B), (i)D), (i)-(A), (iw)-(C)
(2) @-(B), (@}C), Giz)-(A), (iw)-(D)
3) @)-A), @)-(B), (5)-C), (iv)<D)

(4) @HD), (i)AC), (ix)-(B), (iv)-(A)



126. The story of .
n this Pumnah:“ktn Kannappa

(1) Linga Puran
; a
(2) Periyg Purang

54) Aryabhattq

D a‘dédﬁ;
() MIGHUES
(2) L&‘é‘&{b" &
3) 3o

4) RN

18

T0gR D e BBk B
it TR 9w

128. The go@é’rnment should provide

e and

chxld;‘en aged 6 to 14 year. If n
provided, the following right
violated :

(1) Right to freedom
(2)

compulsory education for

ot
is

Cultural and Educational rights

(3) Right to equality
(4) Right against exploitation

6 S0d 14 ‘éoéé.)o'o 60‘531603
DookH L‘éz;béso GOS8 J8yod
g $0yomrd. &I 500U,
(S TN & T8 %o

6903)300&@

(1) gdo8Yy 8y

(2) oy, )8 g VDY T
3) (o&%ésé) ‘é*&)é'

4 %da'&)l 680 o)

&

130. The

Booklet Code | C

129. The Indian National Army hoisted

the Indian flag here in March,

1944 :

(1) Itanagar

(2) Agarthala

(3) Port Blair

(4) Kohima

wdd erdad dgo Jrd) 1944¢°
ro8ch Toam a8 NHEII.
(1) atrdiKd

(2) wifdo
(3) G Bowb
4) Sodr
woman who did not
represented the Constituent

Assembly of India :

(1) Dakshayani Velayudham
(2) Lakshmi Sehgal

(3) Sarojini Naidu

(4) Anna Mascaren

>8E oargol vt [@82&g0
S0 Sodre

() orgrond Jorasindo

(2) of ) DEUS

(3) 3620 asnds

4) o), &) 68



131. Identify the false statement in the

132.

following regarding the retreating

monsoon season !

(1) The atmosphere
oppressive due to 10w humidity
in the air

This is called ‘October heat’
Not only clear sky, but also rise
in temperature

(4) The soil will be still moist

35K S5 ondonsd sUS

Sowobon) & (808 >8S° 83y

(DEOIDH %0os0d.

(1) 0 wo)BS s¥mom
Tesdno oo a8 TEm
Gotwod

(2) B3 o506 I wotrd

3) es*do o0 aod s
e |fden & iherow

4) 3o m05° SHorr Gowwod

Trees like oak, ash, beech, birch

are mostly found in this forests :

(1) Temperate evergreen forests

(2) Temperate deciduous forests

(3) Tropical evergreen forests

(4) Tropical deciduous forests

1§, oirl, OS5, 96) Sod VI

Q&P G wiHod® LI ow.

(h ‘ééa%é“g DS80S einrgw
2) $588% v edHw

3) 6‘@3’»060 D88 08 slargen
4) sLdode w0 D) sdHw

is very

(2)
(3)

133. : |
“correct sequence in making of

134.

Booklet Code | C
From the following identify the

paper :

(1) Chipping - Making wood

pulp — Spreading the pulp —

Pressing — Cutting

Chipping — Spreading the

pulp — Making wood pulp -

Pressing — Cutting

Cutting - Making wood pulp

— Spreading the pulp -

Chipping — Pressing

Chipping - Making wood

pulp - Cutting—> Spreading

the pulp - Pressing

808 &8 sAdY Saird

L;’a@d’né‘&) Shd |8y HBoSed

(1) oo Jahdo = Lo Kz
SET0 o s DSdo >

wddo - £8oh

$nE o0 Tohdo —» faedd

583G > ob g SGr0

Sohdo - addo - So¥ e

Bodhdo

¥80h - ¥od by $aird -

Howed DESdo —> SnE o

Fohdo - wddo

) e Jokdo > o e

S50 — ¥8oh - m§°;§a

D8S%0 > addo .

The Constitution of India gives the

following powers to the governor in

the affairs of the state :

(1) Judicial powers

(2) Partial judicial powers

(3) Legislative powers

(4) Executive powers

88 orergolio H58)6% o"R9

éééfé‘dod‘ & (808 “©85T0)

§9yowob. '

(h a"ﬁoﬁrés'o'o:u

(2) 8 TYArHSTON

(3) TITOHSCTOD

4) 96530'36%‘@5'0'0:»

(2)

3

(4)

2)

3

4



135. Identify the cq)) organelle in which

cellular respiration takes place
from the following :

(1) Chloroplast
(2) Endoplasmic reticulum
(3) Ribosomes
(4) Mitochondria
Bod gt Someb@cs 207
Seromdy hBoW0a.
(1) 88Ty,
(2) wodbs (ESgaroo
3) BEhwen
@) DEsoase
136. Identify the gland that secrets
Glucagon from the following :
(1) Lungs
(2) Pancreas
(3) Liver
(4) Kidney
Bod &8S' KrgmrsS B (B0T
(fodR Hbodod.
(1) &ddadhen
2) §%o
(3) s*doko
(4) Srgaodo

Booklet Code | C
CT sentence

137. Identify the CORRI.‘J
regarding transpiration :
(1 Transportation of wa
soil to plant cells
(2) Transportation of water in
petween the plant cells
(3) Release of excess water into
the atmosphere through the

ter from

stomata
4) Transportation of water from

roots to shoot

u*ﬁ‘o'é‘bé (©ED® %020000) DTN

g-s-gz)l Ibgoéo&.

(1) 3o %08 AH I o
B8do

2) ¥ Yoo DS 207 08 e

3) wb¥ A& HEYogro TYO
Ters8n088 ddhde s*ddo

4) 3§ 208 N Iy, FTOL
Sarer stdd0

138, Identify the consumers of the food

chain from the following :

(1) Microorganisms

(2) Shrubs

(3) Plants

(4) Animals

eHEH Foons® TriordHodH

JrdoBarEd HdoSod. >

() wrgydHe

2) D&en

3) I

4) zodhHew



139. Identify the soil horizons from the
top layer to bottom :
J0 > S008 (800 S05
SEam Jo §8rod Hoood :
M A-BsC>E->0->R
@2 0-2A->Ro5E->B=2C
3 0A->E->B->C-R
49 0O>A-+>B->C->E-R
140. Hormone responsible for the
secondary sexual characters in girls :
(1) Estrogen
(2) Thyroxine
(3) Adrenaline
(4) Testosterone
rO%0s® Bg8ch Toh¥ ofe oD
sEnRThy F6°S
(1) &F9=S
2) Bo8ye
3) JBIOS
4) BIVoR
141. Which among the following is NOT
an Oviparous ?
(1) Bat
(2) Pigeon
(3) Eagle
(4) Sparrow
Bodar86* wol'e)io 5 I
bosod.
() #8)yoo
(2) o
3) aff
@) DdyE

Booklet Code C

142, Identify the male part of a flower :
(1) Petals
() Sepals

(3) Gynoecium
(4) Androecium
@:1306“0 i
rbgodo&. .
(1) wigs dE®
Q) L% dE®
(3) wod& o
4) BHod®
143. Chemical used to test the carbo-
hydrates in the food :
(1) Copper sulphate
(2) Spirit
(3) Potassium hydroxide
(4) Iodine
TFl] ::cs'g'oé‘ Dod Borgrod
(i:_b‘o{ue:é: o4 Gohd0
(1) s*Hb :6396
2) ?0365
3) deroho TEE@S ')5
4) &oIER
144. Identify the desert plant from the
following :
(1) Mangrove
(2) Cactus
(3) Red Sandal wood
(4) Vallisneria
808 &8¢ a6 g
hdood.
(h Srors
2) 5§
3) B Po&So
4 OIJ0asr

BigdId ),
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Part V(b) : Methodology

145. Which one of the following

Statements ;g not correct related to

objectivesg of Continuous

Comprehensive Evaluation (CCE) ?

(1) Maintaj, desired standard of
attainment

Use evaluation for
IMprovement of student’s

achievement through diagnosis
and remediation

(2)

(3) Making evaluation an integral

part of teaching-learning

process
(4)

Provide no scope for self-
evaluation

NI on Tt Do Qorergo¥s (CCE)
O §O0 Jowodod & (508 a8
9838 8 969

(1) &300% (BErerod Foosaod
80 S0 B0

&% Nore 00w 69O Darde
argar Z)a‘gg’ao Y S S
DTN oD T o ok &y
&ro‘goééé»éa AR Ao,
5t oy T RS (58 S0t
5»»0»505;»% esoéo‘z)(fo
Bosrd

?".Sd’” SrorgosT 08 wds o

aésgrdda

2)

3)

(4)

TET 111 T'AM/TM

3T}

146. After listening to the topic ‘Child

‘ohts' a class-V student is al}le to
x:::; the child rights clgarly in his
own words. It aims at achievement of
this academic standard : .

(1) Questioning hypothesis _

(2) Experiments, field obsex:vatxons

(3) Conceptual understanc'img

(4) Information skills, projects
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147. Class-V students visited the place

where pots are made and they got
experience of the process of pot
making. This refers to the
following experience :

(1) Olfactory

(2) Gustatory

(3) Auditory

(4) Kinesthetic
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.y one of the resourceg ;.
148. A Primary teacher involved | 149. Which

children in a campaign in the
village for conservation of water
and they spend considerable timo
interacting with the villagers. This
approach
(1) Breaks monotony in learning
and to provide contextual
learning environment
(2) Improves social skills of
students
(3) Enhances the students
knowledge on sources of water
(4) Ensures the students that they
could relate the water
resources to water conservation
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helpful for comp.letin? the proj
work based on the reviews on Woter
pollution ?

(1) Assignment

(2) Seminar

(3) Classroom

(4) Library
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150. Which one of the following

develops critical thinking and
intellectual honesty among the
pupils ?

(1) Social behaviour

(2) Philosophical thinking

(3) Scientific temper

(4) Psychological approach
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